Chapter 12 - Income and Changes in Retained Earnings


Our Comments on the “Your Turn” Cases

You as an Investor A good starting point for estimating the future net income Worsham Corporation is income of from continuing operations. Working backward from net income, it is calculated as $4,450,000 ($4,000,000 + $750,000 ( $300,000). Discontinued operations and extraordinary items generally would not be expected to be repeated in future years and, therefore, should be eliminated in predicting future amounts.

You as a Financial Analyst  Don’t be misled by the negative trend in earnings per share (EPS) on net income:  $1.60 to $1.51 to 1.12.  While you should not completely ignore this trend, the more relevant trend for purposes of assessing future profitability is the trend in EPS on income from continuing operations:  $1.75 to $2.56 to $3.02.  The discontinued operation figures, which are between income from continuing operations and net income, relate to a segment of the business which is no longer part of the company.  The best predictor of future earnings is income from continuing operations which should be the primary factor in your evaluation.
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